Proposed Settlement of
Administered Price
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Salient Features of the APDM

APDM are governed by the historical price of
the generator

There is no Nodal Price for the Load

There is no Net Settlement Surplus (NSS)
Causers Pay

Bilateral Contract Quantity (BCQ) was already
served at contract Price, thus line rental should
not be influence by the market prices

Inter region APDM apply



Calculation of Administered Price

0= 58 MW 1 MQ = 60 MW

BCQ = 45 MW L

Spot = 13 MW POt = MQ = 45 MW

MQ = 50 MW L, Bca=45 mw

BCQ = 45 Mw (SCTS Spot = 0 MW

Spot =5 MW

MQ = 55 MW

BCQ = 55 MW (L EE VIQ = 50 MW

Spot = 0 MW L3 sca-ss mw
Spot =-5 MW

MQ = 48 MW L, MQ = 45 MW

BcQ=0Mw (SCJS —> BCQ = 45 MW

SpOt =48 MW Spot =0 MW

Administered Price of G, = Php 1.0 per kwh
Administered Price of G, = Php 2.0 per kwh
Administered Price of G;= Php 3.0 per kwh
Administered Price of G;= Php 4.0 per kwh




Calculation of Settlement Amount of Generator

Generator Settlement
TA = Spot x Admin Price

TAg, = 13 x 1 =Php 13
TAg, = 5x 2 =Php 10
TAg = 0X3=Php 0
TAg, = 48 X 4 = Php 192

TTA = TAg + TAg, + TAg+ TAg,
TTA= 13+10+ 0+ 192 = Php 215



Determination of Administered Price

A n

Z EI:)F)Gen-i,D*MQ Gen-i,D Z APGen—i *MQ Gen-l

2L 2 S'A‘Load-j = ( = m ) " MQLO&d'j
Z MQ Gen-i,D Z MQLoad-j

D=1 =1

EPP = Ex-Post Price

AP = Administered Price

D = number of historical trading days to be considered

i = Generator resources (Suppliers)

MQ = Meter Quantity

SA = Settlement Amount

n = number of generator resources with positive meter quantity
m = number of load resources with negative meter quantity

j = Load resources (Customers)

AP,

Gen-i —




Calculation of Administered Price - Option 1
Load Settlement

n 4
ZAPGen'i*MQGen-i Z EI:)l:)Gen—i,D*l\/lQ Gen-i,D
SALoad-j = ( = m ) * MQ Load-] APGen-i == 4
Z MQ Load-] Z MQ Gen-i,D
j=1 D=1

Load Settlement with Bilateral

4
Z EI:)F)Gen-i,D*Ile Gen-i,D * * * *
APGen—i _ D=1 y _ 58 164(') 504; +5505 35'; 48*4 _ 245
+45+50 +
Z IVlQGen-i,D
D=1

SA, =2.45%60 - 1*45=102.14  SA, =2.45* 45 - 245 = 20.36
SA, =2.45%50 - 3*55 =-42.38  SA, = 2.45*55 - 4*0 = 134.88
TTA = TA, + TA,, + TA,+ TA,,

TTA = 102.14 + 20.36 + (-42.38) + 134.88 = Php 215




Calculation of Administered Price — Option 2
Load Settlement

4
Z APGen-i *SpOtGen-i Z EI:)F)Gen-i,D *MQ Gen-i,D
SALoad-j = ( = m ) * SpOtLoad-j APGen-i =25 4
Z SpOtLoad-j Z MQ Gen-i,D
j=1 D=1

Load Settlement with Bilateral
Total Spot Quantity = Spot , + Spot,, + Spot ,+ Spot,,
Total Spot Quantity = 15+ 0 + (-5) + 55 =65

215 215
SA, = (=) *15 = 49.62 SA, =(=)*0=0.0
A =0 Ao =)

215 215

SA; = (6—5)*(—5) = -16.54 SA, = (E)*SS ~181.92

TTA= TA, + TA,, + TA+ TA,,
TTA = 49.62 + 0.0 + (-16.54) + 181.82 = Php 215



Thank You!
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